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1X%® TR PNl 38 37 75
2 58 Bz FEM 40 36 76
3FSA EX WFM 38 38 76
45H#H B mnEm™ 38 38 76
5FE —= ARm 40 37 77
6 FIu FE FEhH 39 38 77
7 LUy F ko o] 42 36 78
8 BRIl E=E mE 41 37 78
9 fkEA HEH Ml 40 38 78
10 K fifi— fafE™ 40 39 79
11 /NG £5h Wg AT 40 39 79
12 X% &f0 RAZES 39 40 79
13ER & e A o] 38 41 79
14 K% B4 =3=1411] 42 38 80
15858 2= et 41 39 80
16 /NP EA eti] 41 39 80
17 BF #BX evigisl 39 41 80
18 k% 1T MR 43 38 81
19 Heh JIE— tntE T 41 40 81
20 {FEE IEF AR 40 41 81
21 Bt F=E Ml 43 39 82
22 ;IEE ==l EiEh 42 40 82
23 Il fE— FEM 4 4 82
24 FBR X BHM 4 4 82
25 BF BEXR evigisl 4 4 82
26 08 A fafE™ 45 38 83
27 =1 KRB INFHR™ 42 41 83
28 {HE tE% INFHKTH 42 M 83
29 /8 B2 HRFH 44 40 84
30 B EH ka™ 43 41 84
31 EiFE BAE mnEm™ 41 43 84
2 HE R BT 4 M 85
33TEEF #FHRER KB 4 41 85
34 HIF KE mlE™ 4 41 85
35 1k Bk R 43 42 85
36 —[" —EfR K#EgEBEm 48 38 86
37 ki FHB WEM 46 40 86
38 FH & mlR™ 45 41 86
39 FEI F— izl 44 42 86
40 EHE U1— & 42 44 86
41 gl % et 47 40 87
42 iR EA Ml 45 42 87
43 2 gl 44 43 87
4 7 Wik ™ 42 45 87
45 KEr B EE™ 48 40 88
46 =F FE#H =il 45 43 88
47 HE #EZ= I\ 44 44 88
48 HE %HHE FNgam™ 43 45 88
49 4B IEE /N =] 47 42 89
50/ hE BEXB /N\FKHE 46 43 89
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51 FlE #HX FEM 49 42 91
52 lLA Fth FrHET 47 45 92
53 AF BB XKET 49 45 94
54 fHEHE KA TWIIH 55 42 97
55 Heh #47] WEM 46 51 97
56 2K BHEBRLT 48 50 98
57 shith EZER  fiET™ 50 50 100
58 BA A AR 55 48 103
59 KZE IEfT R 55 50 105
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